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F: Output Linearization (OL) data WE40/10L/L40EOOFP.DAT in File (F)
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Adaptation: A =575
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Adaptation: A =555
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0. log- =log +0.16
+log )/2log =log -0.09
Adaptation: A =525

logarithmic ~ -sensitivity log =log
= ((2::D4)%> log- =log +0.24
+log )/2log =log -0.18
Adaptation: A =505

'WE400-7, change of PDT in volour vision
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log [~ /', [/ Adaptation: A =575

=log
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= ((:Da)%> log =log +0.03
=(log +log )/2log =log +0.03
Adaptation: A =555

=log
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Adaptation: A =525
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= (17::Da)2? log =log +0.24
=(log +log )/2log =log -0.18

Adaptation: A =505

'WE400-8, change of PDT in volour vision

logarithmic

= (log

-sensitivity log" =log
o log: =log -0.05
+log )/2log =log +0.12

Adaptation: A =575
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Adaptation: A =555
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Adaptation: A =525
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Adaptation: A =505
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WE401-7, change of PDT in volour vision

J -:l BAM-test chart no. WE40; colour vision _
Logarithmic cone sensitivities and ratios or differences
M Y O

inpuimy0* setcmykcol or

output:olv* setrgbcolor / w* setgra
L Vv

logarithmic = -saturation log
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+log )/2log =log
Adaptation: A =575

Threshold
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/
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= ((:Da)%> log =log +0.03
=(log +log )/2log =log +0.03
Adaptation: A =555

Threshold
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=log
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= (::Da)%> log- =log +0.16
=(log +log )/2log =log -0.09
Adaptation: A =525

Threshol

ts=0.007

logarithmic  -saturation log =log
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+log )/2log =log -0.18

Adaptation: A =505
Threshold

WE401-8, change of PDT in volour vision
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